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#include <stdio.h>

num,;

scanf ("%d", &num) ;

0; 1 < num; 1++)

] = 0; 3 <1 + 1; j++)
make -s

kK = 0; k<3 + 1; kt+) ./main
3
printf ("*"); *

} *
printf ("\n") ; ek
*

J *%k
return O;




printf ("\n") ;
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odq"

while (N <

printf
}
printf ("

N++;

}

return 0;

, &num) ;

num+1l) {

J=0; 3
(n

Ky

\n") ;

<
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num;

scanf ("%d", &num) ;

k = 0; k < num; k++)

= 0; i <k + 1; it++)

J=0; J <1i+ 1; j++)

printf ("*");
}

printf ("\n") ;
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make -s

Lab5 - J_-’—|'7\'||2 ./main
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Cycle
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#include <stdio.h>
main ( ) |
num, temp;
sum;

count;

do {
sum = temp / 10 + temp % 10;

temp = (temp $ 10) * 10 + (sum %

count++;

} while (temp != num);

printf ("$d\n", count);



IT
Lab5 - 1t4{|2 - =0|
. 2I[31E SUBLIC
o =02 42 HWE &6l numdf| HASED
o CALS Q|off temp HELE 272 BHSO{FEJSL|CL
o I H |oop= SU=A| &QI5H| ol count HE4E AFESL| CY

#include <stdio.h>
main ( ) |
num, temp;
sum;

count;

scanf ("%d", &num) ;

temp = num;




LabS - .J__,_l'X'”Z - %Ol #include <stdio.h>

main (

num, temp;

e Q20| 10~ 99Ar |2 1EE| RIeB=

= sum;
o ZZ}2| 40| TS Li=AMint count;
modular@Ate = —LorL|C} iz;;f_(njm snum) ;
o OIHOIM 76/10 + 76% 10 SHAto| Znt=z N
umOIs 1301 S B HE CECTREUCEETNE]
olaq) 234 it

} while (temp != num);

6=1 6|3




Lab5 - 242 - =0|

o sumOfl= 130 AEE0] UL

e tempOil= 760] AE|0] ASLICE e

o (temp O/O 10) * 1O—O—| O;'tl-gi 60% sum = temp / 10 + temp % 10;
temp = (temp % 10) * 10 + (sum % 10);
Dl_l—%__)L count++;
} while (temp != num);
e 13 % 109 ALCZ 30|2t= 2o &=

printf ("$d\n", count);
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do {
sum = temp / 10 + temp %

temp = (temp % 10) * 10 +
count++;

} while (temp != num);

printf ("$d\n", count);

10;

(sum % 10) ;
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main (

n;
cnt = 0;
g, g
scanf ("%d", &n);

a = n;

printf("%d\n", cnt);

return 0;




(n !'= save && n != 0)

n; n/ 10 + n % 10;

scanf ("%d", &n); &= 10;
save = n; (n % 10) * 10;

o8

printf ("$d\n", dap):;
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EF—JF% 7£||'é‘>| 6|‘A|_?_ #include <stdio.h>
o FHel YH HEE Mot ez

= : add (

return

main (
a, b;
scanf ("%d %d", &a, &b);

sum = add(a,b);

printf ("$d\n", sum) ;

return 0;
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e int add(int a, int b);2t=
[ |O=|Ieﬁ:i |:i|:|-% d, b% add 8.:,F ) #include <stc

add (

return

a, b;
scanf ("%d %d", &a, &b);

sum = add(a,b);

printf ("$d\n", sum) ;

return 0;




#include <std

add (

return

scanf ("%d %d", &a, &b);
sum = add(a,b);

printf ("$d\n", sum) ;

return 0;
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scanf ("%d %d", &a, &b);
if (b>a)

swap (&a, &b);

printf ("%$d\n", add(a,b)):

printf ("$d\n", sub(a,b));

printf("‘%‘ \n,,’ mUI(a/b));
printf ("$d\n", div(a,b));

return 0;
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#include <st«

main (

i, 3, Dumg

scanf ("%d", &num) ;

i < num; i++ )

= 0; jJ < num-i; J++ )

printf ("*");

printf ("\n");

}

return O;




./main
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#include <stdio.h>
main ( ) |
Sy
scanf ("sd", &s);
for ( i 0; 1 < s; i+=2) {
0; k<(s - 1) / 2; k++) {
")

) = 0; J <= i; J++) {

printf ("*");

}
printf ("\n");
}

return 0;
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printf ("%d

0;

return
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#include <stdio.h>

printf ("$4d\n", n); // EE
printf ("$6d\n", n); // =

return O;




#include <stdio.h>

#include <math.h>

ny

scanf ("%d", &n);

printf ("$04d\n", n); // =
printf ("$06d\n", n); // =93

return 0;

make -s
./main
o o
111%
001111

./main

il

0001

000001
./main

20

0020

000020




finclude

#include <math.h

main (

n;

scanf ("%f"

printf
printf

printf

printf ("

printf ("

(

(

( \
("$.3f\n'
(

(

printf ("
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e RGB Zz =4

o Zt1 AJO| E: https://www.rapidtables.com/web/color/RGB Color.html

0 RGB color picker RGB color picker
| ™ 1Lb
R[255]H[0 |~ R85 |H 116"
G[255]S [0 | % G[200]S (63 | %
B [255 ]V [100 | % B (77 |V 82 |%
¢ PP | ¢ 550140 |
RGB color picker
| RGB color picker
N Tk
R[2s5]H[0 ]~
G0 |S[100]% R (43 |H[220] "
Blo |V[100] % G [101]S [s0_| %
+Frooo0 ECHL

+ 236508 |


https://www.rapidtables.com/web/color/RGB_Color.html
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e math library2| cos(), sin() e+& ALE3H SAlCT.
o ofelff Z=EE &35 30° 45° 90° 2| FAIR!, AfQl Zts &5 EAICH

o O|& 2I3lf, <math.h> libraryE F7}2 include s &4 C}.

o o2l oM} &0| cos(theta), sin(theta)2| Z2tgE& £35S AlC.

main()
theta = 30.0, cos_theta, sin_ theta;
cos_theta = ¢

sin theta = sin(theta);

printf("cos (31f) => %$.21f\n", theta, cos_theta);

printf("sin(%1f) => %.21f\n", theta, sin theta);

return 0;




X sin x COS X tan x
| 298 0.496973961 | 0.867765453 0.5727054
30 0.5 0.866025404 0.577350269
cos(30.000000) => 0.15 | 301 0.501510737 | 0.865151421 0.579679725

sin(30.000000) => -0.99
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function

COS
'@] C99][c++98] c++11] 7

double cos (double x);
float cosf (float x);
long double cosl (long double x);

Compute cosine
Returns the cosine oflan angle of x radians.l

olzd

== |



o Ofzl Z3AIZ 0|23HA| degrees radianS =2 HEGIEHAM 2.,

o= I Example |

TT
g " N I 2 O g X
20° x =on | M 80

30" X 80 T 180

ERane ma d. 1 oo5en
L ADTIX 2o I 30~ 180
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ofzl 0%l ZAlS &=23H M degreedl| Al radian2 &

AEMGIE M 2.
o radian Ha 342 ct31t Z&4H o}

o xradian = (degree = Pl) / 180

o Pl @t2 3.1415926542 2 ALE3sIM L.

27 rad = 360°
~360°

lrad = — = W ~ 57.29577951°

2w

180°



otel FO{Zl SAlS &-Z35HA degreed| M radiane 2 Heltst= ZEE

s EM 2.

rlo

o radian Het A2 CtZ1t 254 Ct
o xradian = (degree * PI) / 180

o Ple| f2 3.1415926542 2 AIE3SHM| 2.

o xofg| ZEE o HElZE 2MHEEAM 2

#define .141592654

deg 30,0z
rad deg * PI / 180.0;




U2 radian2 = Heti M ot ¢f S CHAl =26l Al
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o 30° 45° 90°E radian &2 2 Y EA|7| 11 CIA| sin, cos #f= Tl AlCH

make -s i
. X sin X COS X tan x
./main

. | 29.8 | 0496973961 | 0.867765453 0.5727054
sin(0.52) .

cos(0.52)

I . 30 0.5 0.866025404 0.577350269

30.1 0.501510737 0.865151421 0.579679725




#finclude

#include <math

theta = 30.0, cos theta,
cheta = theta*PI/180.0;
cos (theta) ;

n(theta);

> %.21f\n",

sin theta;

theta,

theta,

make -s

./main
sin(0.52)
cos(0.52)




o 2702 2o M+E n, mE &= Btot n degree FE n+tm degreeZ7tX| 1 &
UHALE tan ¢S S, e
45 1
o 28 In, m (0<=n<=45, 1<=m<=3) 1.000000 1.035530
o % CF MAbMol ladnt 7 ot g/Main
’ 45 2
o =2: 7ol Ot= EFRIE Z} (% 29| 0f|A] &) 1.000000 1.035530 1.072369

./main
45 3
1.000000 1.035530 1.072369 1.110613
./main
15 1
0.267949 0.286745
./main
15 2
0.267949 0.286745 0.305731
./main
15 3
0.267949 0.286745 0.305731 0.324920




3.141592654

deq)

%d", &n, é&m);

n; i <= nt+m; i++)

printf("$f ", tan(deg2rad((
}

printf("\n") ;

return 0O;




{|T




)
a
. mg
5
a .
BT S
0o T =
of T {5 Ao
=3 ) of ° . U0
£ m R €5 1k
w I om N
0 W._n_%__.lm N A
oF oF TT o <l ok
= = oo =5
H 7M4§$ s o
—_ - () —_—
or z.ﬁﬂsﬂm._mw%
o _ ._._lo_=_|7._/|_x_A.A
oF — o & enr_mMo“_o_
Iﬁ_/l g#mon.mH_ﬂwA_lﬂu
.,Jﬂl__Alo..l.__O_._._Ol_ll
._m__. m_mﬁgﬁu_/_mo_MJLﬂomﬁo_
o T ._|,._n Ko og & I
o1 Haoxt¥aiuEl
oF T K — T o MW
_ M-W_“__nm_mlll_“__nm_ma_.ll
O T m <K
o
I__/|OO o O O



make -s
./main

*hkhkhkkkkkkkkkkhkhkhkkkkkkkkkkhhhhkx

* b9l ('X'), HESI('0'), 2 ('#')?
* S5l '1'e LAGMR.
*hkkkkkkkkkkkkkkkkkkkkkkkkkkkkk
ezt
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* JII('X'), Bt ('0'), 2 ('#')?
S S Eeie B VIVES HEIG S -
*kkkkkkkkkkkkkkkkkkkkkkkkkkkkkx
*x 25:0
* User loses. (computer: i)
Fkkdkkkdkkkkkkkdkkhkkkhkkhhkkhkhkhhk
* I ('X'), Bt ('0'), E('#')?
S SEeeE "U'E g Eeals .
Fokkdkkdokk ko kkdkkdkk ok kkdkkkkkkk
% Ol 2 . I

| — B

make -s

./main
Kokkkkkkk ok kkkkkkkk ok kkkkkkkkk Ak
* JES (X)), HERL o), 2 (#)?
* S=otcdl® '1'S QEEolNR.
Kokkkkkdokkkkkokkkdokkkdkkkkkkkkkk
* 2: 0
* User wins. (computer: X)
ke kokok ok ke ko sk kok ok ek k ok ok ok kA ok
* JH2 ('X'), Bt=1('0'), 2 ('#')?
* ZFote|dH '1I'S QSclNR.
sk ek sk ok ok ko ok ek ok ok ke ok sk ok kok
A R0 =L X!
* User loses. (computer: 0)
Fedekdok ko ok ke ok ok ke ko ek k ok ek k ok kA k
* J9I('X"), Bt ('0'), E('#')?
* S=otdP '1'S USOINR.
Kokkkkkkkkkkkkkkkkkkkkkkkkkkk Ak
* &
* User wins. (computer: 0)
Fokkkokdokkk e kk ko kok ok ke k ok ok kA kA k
* JF ('X'), Bt ('0'), B2 ('#')?
* Z20otei¥ '1I'S QSSNR.
ekekedok ok keokok sk ok ko sk kok ok ek ok ok ok ok ek ok
o ep=ion |




#include <stdio.h
#include

#include

com = rand() % 3;

user;

scanf (" %c", &user);

if (user == "'!")

break;




printResult(game (

printf (" (compu

cer:

|| user == '"X' || user =="

om, decoded)) ;

%c)\n", num2code(com)) ;

')
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o int code2num(char a) et oz b2 JIHIE Z=(X, O, #)=

>

Rt B FE

f (user == 'O' || user == 'X' || user

decoded = code2num(user) ;

printf("wrong input.\n");
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o int code2num(char a) et oz b2 JIHIE Z=(X, O, #)=

>

Rt B FE

f (user == 'O' || user == 'X' || user

decoded = code2num(user) ;

printf("wrong input.\n");




game (

ol Ak draw, win, loseE At H4E if (comp

return draw;

if (user == 0 && comp

4> 0
HO
2
(@)
(@)
D
2]
d
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o
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N
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N
2
o
=

return win;
else if (user == 0 && comp ==
return lose;
— else if
7r{ iR 2 =dof w2t S/3/FSFE retrun I
L El_ else if (user ==

return lose;

else if (user == 2 && comp

return win;
else if (user

return lose;




printResult (

if (result ==
printf ("* Dr

(resul

|| user == "#") i f("* User wins.

(result == 2)
printf ("* User loses.

printResult(result) ;




num2code ( a)

return 'X';

if (a == 1)

decoded = code2num(user) ;
ame (com, decoded) ;
printResult(result) ;

printf (" (computer: %$c)\n", num2code(com)) ;




o LRetprintf 22 H5to] A s MY EM .
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o X7 oM F= X[H HE[ F5t7]
o oM M3t math library Ol 83tet x| 24F T XIFe| 72lg T8 + Yuch

o ofgf "7 FALRl HE"ZS 0| M KT F XFHZE HEE FHEM L.

Radian Zt= 2 EH El F X|H Ajo| AHE|

(lat1,lonl), (lat2,lon2)

cos 0 = sin(latl)sin(lat2) + cos(latl)cos(lat2)cos(lon2 — lon1)
6 = acos(cos(0))

distance = r@
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o X7 &M F X[H HE| F3517]

math library2| cos(), sin(), acos()& At &t C}.

KXo HEX|E(r)2 6371 kmE AtE g .},
ulo| Zf2= 3.14159265358979323846 =
Radian Zt= 2 B El £ X|H ALo] AHZ|

(@)

O
Abg et

o radian Bi&tof| 2ot U

(lat1,lonl), (lat2,lon2)

cos 0 = sin(latl)sin(lat2) + cos(latl)cos(lat2)cos(lon2 — lon1)
6 = acos(cos(0))

distance = r@




oA 1 - =

o X|T &AM F= XH HE| #3517

o = oAl
T/ X : 37.547889 / 126.997128
T/ % 35.158874 / 129.043846

37.547889 126.997128 35.158874 129.043846
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A 1 - Tips
e Ol2l template codel| function prototypesS ZH25HA ZEE ZMHEAM L.

#include <math.h>
#define 3.14159265358979323846
#define 6371

deg2rad (

distance (
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